3x+ 2y = 209] 2] 55 F8to]



® 17

B x+2y =8 9 s A2

® 277 @ 370 ® 470



AT ax+y-4 =09 37} (1, 1) o]aL T TFE 57} (b, -2)
A o, a,b O] G A2 FShofet,

b=
YERE



e AYWAAY 1 5k thehd ol 82 vhEA 73 A
29

@ x+y-1=0 . x=3
x-y+7=0 y=-2

0 x+2y-8=0 . x=2
3x+2y-4=0 y=>5
8x+by=-11 x=-1

dx+y=-7 y=-3

11
3T

=~ =
=
Il
(an)



:z o] a7} (2, 3) € W, a,b 9] A= 5}




x#el 3 &, A a 9

1_—'_.
-

2x+ay =17

*2?

@ 2 ® 3

1



’5‘H7}-x:q’y

1__'_.
-

g

© bz
=2 =

3x+py=1
tofzt.

S

?_

=
pP—-q=



2x-3y=5

2x-3y=5

QJatof

Ol o

o
=

Q

y
o @
o
7)
e
® .
T
T
N
~ N
B o~
|
1%I\./
< @
E_Eﬂ
S
©F

@oll

o
=

©

® —4x

@ 2x-1

X



£ 2280l 0, b BH70] ¥2 B

ol 2a + b ] &

T-5tef2t,

o



10. LA 2x+4y——8—40Hx\_y—’]2HHO1EH x-i—ygl%}:%
stofe,

Ct
=B



3(x—2y)+5y=6
2x-y x+3 2

x_Y_

@ {4 2
2(x—-4)-y=
-1 y-4

® x2 erT*?
Z3 2
Sl s S

©)
——

= =

+ o+

S| =Wl

~ ~

I \

ot



12.

r

)

1 2 =
HAEAGA 2x+y = —dx+3y+2 = fx+§y+§%%°1 x,y 9]

>~

2 Fspole}

2

1



13. A% x, y 7} Glek. o] F 40] G2 21 0]3, x O] 2 H|E 3 0.2 L
ghey ol 4] 1S M gtk 2ok giek ojn] y o ghe?

D 9 ® 10 3 11 @ 12 B 13



©)

@

o) elg
7817 9]
8 _2
x+y 3
8y_1
x-y 3
8y72
x-y 3
8y71
x+y 3
x—y=12
x+y=24

xkm/h, FE0 £ ykm/h 2 T o, o &5

H}

o

Nog & AL (B2 )
8
=40
@ ¢*gY
=20
x+y
x+y=12
@
x—y=24



15. xEy4uo]il2x+3y =22 € o, x, y & S 7 o2 Eojgt,
‘é*:x:
D ERE



3x+4y+2z=11
AT (dx+5y-z=3 g7t x=a, y=b z=c 9%
2x+y+z=7

o, abe ] 327

D -2 ® -3 B -4 @ -5 B —6



17. (2x+1): x+y+4):(x+y—m):2:6'3°ﬂqol'°%x—f%

3

~—



-y+4x=6
T8t
1
=1,b=--
® a 14
:2’b:—
® a 5

o a7} 245 @7 Pt a, b ] 7k

1
=1, b=--
@ a 1

1
=2 bh=—>
@ a 5



Auk
mlo
ra
L)
ol
o
)
ol

3x—-y=2
D y

6x -2y =10

x+2y=4
® Y

2x+4y =38

3x+2y=1
® y

2x+4y =2

1 =7} oS 2= o)l vl LSk AL

/]

Y4

O/ T
x+y=2
® y
x-y=0
3x—2y=-2
@ Y
6x -2y =—-4

9



0.2x+ 0.1y =0.7

20. AFTAA] e =W
0.%— 0.0y = 0.18
O x=-2,y=3 @ x=2y=3
®x=2y=-3 @ x=-2,y=-3

® x=3y=2



